
1juk; - 10 tpQ;Qhdk;

%d;whk; jtizg; guPl;ir 2017

Gs;spj;jpl;lk;

gFjp I
1. 2 11. 2 21. 4 31. 3

2. 3 12. 4 22. 1 32. 3

3. 4 13. 3 23. 1 33. 4

4. 2 14. 2 24. 4 34. 3

5. 3 15. 4 25 3 35. 4

6. 1 16. 1 26. 4 36. 2

7. 2 17. 2 27. 1 37. 1

8. 4 18. 1 28. 4 38. 4

9. 1 19. 3 29. 3 39. 4

10. 4 20. 3 30. 4 40. 3

(40x2 = 80 Gs;spfs;)

gFjp II

01. i. G+f;fhj tpj;Jf;fis cUthf;fhj jhtuq;fs; (1Gs;sp)

ii. Ntu;j;jz;Lf;fpoq;F (1 Gs;sp)

iii. a - mk;gpgpah b. nkhy];fh

c. mdyplh d. Mj;jpug;Nghlh (2 Gs;sp)

iv. kfue;j Nru;f;if (1 Gs;sp)

v. fhw;W> ePu; (1 Gs;sp)

vi. a. MtpAapu;g;ig Fiwj;jy; (1Gs;sp)

b.  fs;sp> fw;whis> ehfjhsp (1Gs;sp)

vii mD$yk; - jha; jhtuj;jpd; rpwe;j ,ay;Gfs;> tpj;Jf;fs; cUthf;fhj

jhtuq;fs;

gpujp$yk;  - MA+l;fhyk; FiwT> vy;yhjhtuq;fspYk; Nkw;nfhs;s

KbahjJ. (1Gs;sp)

%d;whk; jtizg;guPl;ir - 2017

khfhz fy;tpj;jpizf;fsk; - tlkhfhzk;

juk; : 10 tpQ;Qhdk;
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B. i. Mok; $Lk;NghJ mKf;fk; $Lk;. vdNt mKf;fj;ij jhq;Ftjw;F(1Gs;sp)

ii. P =hpg

      2.5 x 1000 x 10

     = 25000 Pa (1Gs;sp)

iii. mKf;frf;jp = mgh

   800 x 10 x 10 = 80000 J (1Gs;sp)

C. i. 2 Nrhb (1Gs;sp)

ii. %yf;$w;wpilg;gpizg;G (1Gs;sp)

iii. miwntg;gepiyapy; ePu; jputkhf ,Uj;jy; (1Gs;sp)

(15Gs;sp)

02. A. i. khg;nghUs; maBd; fiury; (1 Gs;sp)

rptg;G epw vz;nza; rpWNfhsk; ,ypg;gpl;L (1Gs;sp)

Cjh epwk;> CUSO4 (1Gs;sp)

ii. epA+f;fpspf;fkpyk;

iii. ghuk;gupa jfty;fis fsQ;rpag;gLj;jy;> Gujj; njhFg;G (1Gs;sp)

B. i. a - 3

b - 4 (2Gs;sp)

ii. 1 - nghRNgw;Wf; $l;lk; 2. ngd;NuhR nty;yk;

3.  iejurd; %yk; (2Gs;sp)

C. i. a. ,iokzp > b. mOj;jkw;w mfKjYUrpWtiy

c. fU     d. nfhy;fpr;rpf;fy; (2Gs;sp)

ii NtWghL (1Gs;sp)

iii. 23 Nrhb 46 (1Gs;sp)

iv. 1 - C , 2 - A, 3 - B, 4 - D (2Gs;sp)

(15Gs;sp)

03. A.

i. a. KJMOl b.  mZntz; (1Gs;sp)

ii. Q - 28, 2 T - 2, 8, 5 (1Gs;sp)

iii. m. S M. R ,. U <. V (4Gs;sp)

iv. p+(g) + e (1Gs;sp)

B. i. AH4 (1Gs;sp)

ii.

(2Gs;sp)

iii. Rthrk; (1Gs;sp)
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C. i. ntg;gepiy (1Gs;sp)

ii. njspthd> tpiuthd mtjhdk; ngw (1Gs;sp)

iii. A. Fiwe;j Neuj;jpy; epwkw;wjhfkhWk; (1Gs;sp)

B. $ba Neuj;jpy; epwkw;wjhf khWk; (1Gs;sp)

(15 Gs;sp)

04. A. i. 1 (1Gs;sp)

ii. a - njhlu;   b kpd;Ndhl;lk; (2Gs;sp)

iii. R3, R2, R1 (1Gs;sp)

iv. flj;jpapd; FWf;Fntl;Lgug;G (1Gs;sp)

i. V = IR, 3 = 0.5 x R, R = 6  (2Gs;sp)

B. i. 1000 (1Gs;sp)

ii. 5% (1Gs;sp)

iii. 950 - 1050  (1Gs;sp)

iv. R2 (1Gs;sp)

C. i. 8X0.5 = 4Nm (2Gs;sp)

ii. 8 x 0.5 =0.2xw

W=20N (2Gs;sp)

(15Gs;sp)

fl;Liu tpdhf;fs;

05. A. i. a. fpwprhe;jpkk;> b. ,uhtzd; kPir

c. ,d;dyf;fpoq;F d. ,uhrts;sp (2Gs;sp)

ii. czT Nrkpg;G> jfhj fhyj;ij fopj;jy; (1Gs;sp)

iii. a. rkdpy;yh jk;gTz;ik (1Gs;sp)

b. Fwp> Nfruk; tise;jpUj;jy; (1Gs;sp)

iv. 1. A. Mzfk;   B. ngz;zfk; (1Gs;sp)

2. 1. Fwp> 2. jk;gk;> 3. #yfk; (1Gs;sp)

v #yfk; gokhFk;> #y;tpj;J> tpj;jhFk; (1Gs;sp)

B. i. x - FSH, Y - LH, A - gilg;G mtj;ij, B - ,ypA+w;wpay; mtj;ij

p - kQ;rs; rlyk; Q - ntz;rlyk; (3Gs;sp)

ii. fgr;Rug;gp (1Gs;sp)

iii. A. <];Nuh[d; B. Gnuhn[];jNuhd; (1Gs;sp)

iv. fUg;igRtu; tpUj;jp> FUjp kapu;f;Foha; nrwptiljy; (1Gs;sp)

v. $g;gupd; Rug;gp> Kd;dpw;Fk; Rug;gp> Rf;fpyg;Glfk; (1Gs;sp)

C. i. a. kQ;rs; epw tpj;J (1Gs;sp)

b.  gr;ir epw tpj;J (1Gs;sp)
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ii. F1 re;jjpjapy; ntspf;fhl;lg;gLjy; (1Gs;sp)

iii. ntspwy;> jyrPkpah (1Gs;sp)

iv ,d;Rypd; cw;gj;jp> Ez;Zapu;nfhy;yp (1Gs;sp)

06.i A a. Ks;spg;Gdy; b. $k;Gf;FLit

c. Nghf;Ff;Foha; d. thAr;rhb (2Gs;sp)

ii HCl (1Gs;sp)

iii Mg Jz;Lfs; fiujy; FLit #lhf ,Uj;jy;> thAf;Fkpo; (1Gs;sp)

iv.  Mg(s) + 2HCal   (aq)  MgCl2(aq) + H 2(g) (2Gs;sp)

v. xw;iw ,lg;ngau;r;rpj; jhf;fk; (1Gs;sp)

vi. vupAk; jzw; Fr;rpia gpbf;Fk; NghJ nghg; vDk; xypAld; vupj;J

mizAk; (1Gs;sp)

vii. ePupd; fPo;Kfg; ngau;r;rp (1Gs;sp)

B. i. 100
5.12

   1/8mol 0.125mol (1Gs;sp)

ii. mol 0.25mol (1Gs;sp)

iii 6.022 x 1023 x 0.125 (1Gs;sp)

iv. ntspr;Rthrk;> jfdk; (1Gs;sp)

v. Gtp ntg;gkiljy; (1Gs;sp)

C. i. Fe2O3 +  Rz;zhk;Gfy; + fw;fup (1Gs;sp)

ii. CO Vkidw;W (1Gs;sp)

iii. a,C b. 3CO  2Fe (2Gs;sp)

iv. 160kg   112kg

100   70kg (1Gs;sp)

v. ngsjPf Kiw / nghwpKiw Ntwhf;fy; (1Gs;sp)

(20 Gs;sp)

07. A. i. Gwtpir jhf;fhj NghJ Xa;tpypUf;Fk; (1Gs;sp)

ii. 1k; ,af;ftpjp (1Gs;sp)

iii. A. kWjhf;fk;> B. epiw (2Gs;sp)

iv. rkgUkd;> vjpuhd jpir (1Gs;sp)

v. 750N (1Gs;sp)

B. i. 0.5ms-2 (2Gs;sp)

ii.

(2Gs;sp)

>

>

Ntfk; ms-1

15

30 50 t(s)

4
F
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iii. 525m (2Gs;sp)

iv. ce;jk; = mv

2000 x 15  = 30000 kgms-1 (1Gs;sp)

C. i. y (1Gs;sp)

ii. y (1Gs;sp)

iii. ,Otpiria $l;ly; (1Gs;sp)

iv. tpir> nrq;Fj;jj;J}uk;

(Row;rp mr;rpypUe;j jhf;fNfhl;bw;F ,ilg;gl;l J}uk;) (2Gs;sp)

v. fjit  jpwj;jy;> Riuahzpia rhtpahy; fow;wy; (2 Gs;sp)

  (20 Gs;spfs;)

08. A. i. a - euk;Gf;fyk; b. vd;Gf;fyk; (2Gs;sp)

c.   jirf;fyk; d. Gzupf;fyk;

ii. A. ,jaj;jirapioak; (1Gs;sp)

B. ,jak; (1Gs;sp)

iii. CO2 it cwpQ;ry; (1Gs;sp)

iv. epw%l;lg;gl;l jpuj;Jsp Kd;NDhf;fp mirjy; (1Gs;sp)

v. tpj;Jf;fs; O2 it cs;nsLj;J CO2 it ntsptpLk;. (O2 it KOH

cwpQ;Rtjhy;> Vw;gLk; fdtsT FiwT ntw;wplk; fhuzk;. (1Gs;sp)

vi. II (1Gs;sp)

vii. RthrNtfk; =mire;jJ}uk; 4cm 0.1cm / epkp (1Gs;sp)

Neuk;      40epkp

viii.. xspj;njhFg;G (1Gs;sp)

ix. 6CO2 + 6H2O #upaxsp C6 H12 O6 + 6O2 (1Gs;sp)

B. i. RUs; ntg;gkiljy; (1Gs;sp)

ii. V = IR

4  = 0.2 x R

R = 20  (1Gs;sp)

iii. 2V (1Gs;sp)

iv. V = IR

2 = 0.2 x R, R = 10  (1Gs;sp)

v.  khdp ,izg;G (1Gs;sp)

C. i. 4N (1Gs;sp)

ii. a. 4N - 1N = 3N (1Gs;sp)

b. 1N (1Gs;sp)

ii. Mf;fpkpbrpd; Nfhl;ghL (1Gs;sp)

 gr;irak;
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09. A.i. 4N (1Gs;sp)

ii. a. 10N - 6N = 4N

  b. 2ms-2 (1Gs;sp)

iii. Nkw;gug;gpd; jd;ik (1Gs;sp)

iv

(1Gs;sp)

v. mgh - 3 x 10x 5 = 150J (2Gs;sp)

a. i.. P = 4
F

(1Gs;sp)

ii. jputj;jpD}L mKf;fk; CLflj;jy; (1Gs;sp)

iii..   W = 2F (1Gs;sp)

iv. ePupay;ahf;F> thfd cau;j;jp> thfd gpNwf; (1Gs;sp)

B. i. B, C, D, A (1Gs;sp)

ii. H2 thA (1Gs;sp)

iii. A - Mg, B -Cu, C - Fe, D - Zn (2Gs;sp)

iv. mkpyj;jpd; nrwpit mjpfupj;jy;> cNyhfj;ij rpWrpWJz;lhf;fy;

(1Gs;sp)

C. i. A. gq;fPl;LtYg;gpizg;G B. mad;gpizg;G (1Gs;sp)

ii. A. fiury; epiyapy; kpd;idf; flj;jhJ

B. fiury; cUfpa epiyapy; kpd;idf; flj;Jk; (1Gs;sp)

iii. a. Ca (HCO3)2

40+ 2 +24+ 96

= 162 (1Gs;sp)

b. Na2 SO 4

= 46 +32 +64

= 142 (1Gs;sp)

   (20 Gs;spfs;)

>

,Oit (T)

epiw (W)

(1Gs;sp)


